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Question Number : 1 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
In asurvey it was found that 21 people liked
product A, 26 liked product B and 29 liked
product C. If 14 people liked products A
and B, 12 people liked products C and A,
14 people liked products B and C and
8 liked all the three products. Then the
number of people who liked product C only
is :

Options:



Question Number : 1 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1 )
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Options:
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Question Number : 1 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
slg w5 udgeRl Vg WU U B 5 21 dlsl
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Options:
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gty waae ¥ fag w= Re(z) 4

Er

Question Number : 2 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

r

| =

=3, % fagug &

Izl

Options:
1. O W&
s G YA
5, TF SR

4 T S
Question Number : 2 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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Options:
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Question Number : 2 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1



The locus of the point w = Re(z) 4 1

i

where |z| =3, in complex plane is :

Options:
, @ parabola

5 a circle
5 an ellipse

i a hyperbola

Question Number : 3 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
[f each pair of three equations

x2 —pix+2=0, xZ— pyx+3=0,
x2—px+6=0

have a common root, then the positive
values of py, p,, p; are, respectively :

Options:
, 345
52,36

2 1,3,6

g 3,56

Question Number : 3 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

xz-f-plx+2={], Iz—p?_x'l' 3=0,
a2 —px+6=0

* Yd® W F UF SIS Hd ©, q
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Options:
. 345

52,36



= 1,36

3,56

Question Number : 3 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
el wlsel
xz—plx-i-2=[],x‘1-—pzx+3=ﬂ,
x2— pax+6=0
izl 825 sasd oA @5 U ol ¢l dl
Py Po 2 py Al et Bl 2453
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Options:
. 345

5 23,6
5 1,3,6

i 3,56

Question Number : 4 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
| 35 b v |
Let A=|b 3c a | bea 3x3 matrix
¢ a 3b
wherea, b, ceR. Ifabc=1, AAT =641, and
det (A) > 0, then (a® +b* + ), is :

Options:
1 21

5 11

L
~J

Question Number : 4 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



3a b ¢

HFMA=|b 3 a| 3x3F & AT
c a 3b

T V@ a, b, ceR. AGabe=1, AAT=641,
Aqldet (A)> 0, (@@ +b3+3) B :

Options:

1. 21

5 11

Question Number : 4 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

3a b ¢
arls A=|b 3c a | »3x3 sy s
c a 3b

sédl a, b, ceR. od abc=1, AAT=641, 241
det (A) > 0, dl (a®+b3+c%)  wwR
9.

Options:
1 21

5 11

o
~]

Question Number : 5 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The value of “a” for which system of linear

equations
x+ay+z=1
ar+y+z=1
x+y+az=1

has no solubion is :

Options:



o 1
2
5
—
4 —2

Question Number : 5 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
‘&’ =1 92 7, Torges Toru thgs o e

x+ay+z=1
ax+y+z=
x+ytaz=1
FFEEATEE, B :
Options:
i, 2

>
i

Question Number : 5 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
yyu walszen wled
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Options:



Question Number : 6 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The maximum number of points of
intersection of 4 distinct circles and 8
distinct straight lines, is :

Options:
1. 66

> 64

40

Question Number : 6 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

= ot gl a3 T weet Tl 3 wfawseer
Options:

1. 66

> 64

40

Question Number : 6 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
4 (G gl oA 8 (Bt a2l AL SE[Gg21A
Mg vl 8.

Options:
1, 66

> 64
= 14

40



Question Number : 7 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The sum of all the coeflicients in the
binomial expansionof (1 +x)"is 1024. Then
the largest coefficient in the expansion is:

Options:
1. 512

5 252
= 256

4, 352

Question Number : 7 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

(1+x)" & f5Ue THR & [ T F am
1024 2, @1 59 T9R H SATHaH T ¢
Options:

1. D12

> 252
3. 256

4, 352

Question Number : 7 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
(1+x)0 A [guel [Sedreril wedisidl ureol
1024 &, dl 2 FBedresi wedd #e2els

Options:
1. 512

5 252
= 256

4, 352

Question Number : 8 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1
[f three real numbers, a, b, ¢, all greater than
one, are in a geomelric progression such

t.logﬁ a log.b log.c
X 2y 3z

and z are non-zero real numbers, then :

tha , where x, y

Options:

1 2y=x+3z

o dy=x+3z
g 2Yy=x+z

4 y=I+z

Question Number : 8 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Ffg @ ardfas @@ a, b, ¢ (I9F 1 9
aAfas) Ui 431 H 39 AR € %

'Ingea 3 log.b _ log.c

, W&l x, y 991 z
X 2y 3z J

AY A G, 9
Options:

| Zy=x+3z

> dy=x+3z
= 2y=x+z

i y=x+z

Question Number : 8 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
sda, b, c @l dqd 1 s3dl wiél el s
vl Wyapeliaz fell (G.P.) ol ¢ s o2l

'logea __log.b  log.c

U, sl x, 1 2

X 2y 3z
z el Aldls vl 8, dl
Options:

| Yy=x+3z



> dy=x+3z
5 2y=x+z

4 y=x+z

Question Number : 9 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The sum of the first 19 terms of the series
1242224324 2424524 is:

Options:
1 4200

, 4410

5 3800

4 3610

Question Number : 9 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
it
12+2:22 432 +2:424+ 52+ .....
% WIH 19 WS H I :

Options:
1 4200

5 410

5 3800

. 3610

Question Number : 9 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Bl
1242-224324 2424524+
Al UMY 19 YEiAL Ml 8.
Options:
;4200



- 4410

5 3800

4 3610

Question Number : 10 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

If f: R —» R be a differentiable function such
that f(3)=7 and ('(3)=1, then the value of

flx) 4,2
|iI‘t‘l I ;L“ iq:
-3} (x-3)

Options:
1 21

5 147
5 441

4. 105

Question Number : 10 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
AR > R UF ATT1E o 39 TFR & fh
f@)=7aaf @) =11

.JI{-'L} ":-L-—
lim -[ '—_‘LHEETHFT%:
=3 J7  (x—3)

Options:
1. 21

- 147
3 441

4 105

Question Number : 10 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



od (@44 f: R > R [S5al4 & d2u f(3)=7 2
[(3)=1 €4, dl

&

lim : 1t i
Iy L x—3)° Al Bt

Options:
1. 21

- 147
3 441

4 105

Question Number : 11 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

ja.xz Fbx +4. x=-1
[’m“ Fa cx<—1
uftfud e R T STaerid €, o f(2) e
T

Options:

1 16

afg f(x) = BT

z. —4
2.2

4. 12

Question Number : 11 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct MarKS' 4 WrongMarks: 1

lax2 + bx 4 x=-1
fx) =4

[b;t" Fa ,x<—1
gL v ild [Bad flx) od R wr [Esadl ey,
dl fi2) e 6.

Options:
1 16

o —4



3 20

Question Number : 11 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
If the function f{x) defined by

ja:rE tbx +4,x = -1

[hxzia x<—1

f(x)=

is differentiable on R, then f{2) equals :

Options:
1 16

o —4
3 20

4 12

Question Number : 12 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Let m(b) be the minimum value of the
function f(x) defined by
flx)=(1+b?x?+4bx +4, x e R.

If the range of m(b) is the interval [2, 4],
then the range of values of b is the
interval :

Options:
1. 10,1]

[—1,0]

[1
2!’

[-1.1]

A

k| =
e T |

3.

Question Number : 12 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



A f(x)=(1+bHx2+4bx+4, x € R 5
qfrafad e #1 A9 59 m(b) ¥ AfE
m(b) 1 IR, a0 [2, 4] %, 91 b % HE #
iR fre | 9 - Hae 8 7

Options:

1. 10,1]

[—1,0]

[1
2!’

3.

z.

[J | =
T |

4. [—1! !

Question Number : 12 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
AL 5 flx)=(1+b%a2+4bx +4, x € R gRL
eyl [BEY fix) Al 4dd Bud mb) ©.
od m(b) -l [Sar, idud [2,4] €A, dl b -l
(G B

Options:
1. 10,1]

[—1,0]

Ef

=

z.

4. [—1! !

Question Number : 13 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The equation x*+e*+5=0 (x € R), has:

Options:
1 ho solution

> exactly one solution



3 exactly two solutions

4 infinitely many solutions

Question Number : 13 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
HHEW 2 +e* +5=0 (xe R) :

Options:

| 1 T B T 2

E_Hqﬁlﬁﬁﬁa%l

=, =

5 FAAT AL

FoTaEAa s
4

Question Number : 13 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
W52 P+ et +5=0 (x e R), 4
Options:

i wis Yol Giy 8l

5 URIGR W5 o G5 B,
5 R o o Ghdl .

wirid G5dl 8.

Question Number : 14 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Let

j{sin .1'}{ Jx— 41—._1 dx =sinx f(x)— Jx g(x)+C,

Y1
where C is a constant of integration.
Then f(x) and g(x) are, respectively,
Options:
1

— 7 and cosx
L 2Vx



\E and —sinx

2
—— and —cosx
3 .J;

s .2,‘;{; and sinx

Question Number : 14 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

HHAT
j{sinx}{ﬂ — 4; ﬂ] dx =sinx f(x)— Jx glx)+C,
el C U AT A9 €, o f(x) 991 g(x)
FEI: T :
Options:
2
1 2\1,; a9l cosx
o Jx @0 —sinx
2
o f a4l — cosx
, 24x TIsinx

Question Number : 14 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
R

I{sinx}{ Vr = ﬁ} dx =sinx f(x)— Jr g(x)+C,

sedl C 24 sl 2105 5, dlf(x) 2 g(x)

w454 =B
Options:
‘. wa; A cosx

Jx = —sinx

2.



>
. \."'_1_' A —Cosx

4 2./x @ siny

Question Number : 15 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

If flx) = [x?] + g(x), where [x] represents the
greatest integer = x, and

[ 3
[-2x-3, — =x< -1
j 2

g(x) = 1{x 1=x<1
;“*. 2% fi«:z-_c_E
{ 2

5
then the value of : f(x)dx is:

]
3
Options:

;44242
> 4-22

5]

B s
4 <

Question Number : 15 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
AfE flx) = [x2] + g (x), 53 [x], x 3 THA A1 59
FH Hewd Ui &, a9

| —2x 1,—3-5:;'{ 1
: 2
g(x}={:; j B
' 3
(3-2x, l=x=—
2

| ) FEARE

[T

Options:



% Boaie
=g |

15

= 5
4 2

Question Number : 15 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
od flx) =[x2] + g(x), sedl [x] 2 x 2l AL 242
A M A yeUs el el yels suld

3
2x-3, =x<-1
j 2
o gx)={x l1=x<1
- 3
13-2x, 1=x=—
L 2
5
dl | foyde LB 8.
2
Options:
, 4+242
5 4-242
= 1
15
= 2.5
4 2

Question Number : 16 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The area (in sqg. units) of the finite region
x

bounded by the curves y2=x and ¥ = 3

is :

Options:

9

1, 2



m|!‘j

5
27

3 2
9

4 4

Question Number : 16 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
= X = =
w1 yP=x T Y = - G fAR i A=
&ERet (=T Sl W) ®
Opt_ions:

9

1 2

| 13

: =)
u|.q

= | o
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No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

- - X ... . . -
45l ye=x YA Y= ; glel ~USqnl Hlred }{Eﬁlj
BAs0L (=L 2isl) B,

Options:

=]

1 2

|13

; [o®)
u|ﬂ
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Question Number : 17 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The solution curve of the differential

d1
equation (1 4 .'::2}—*‘III b2y = ————,
dx (1 +x°)
passing through the point (1, 0) is:
Options:
= P ltan_Ix E]
1+ _1'2 % 4J
1.
[ A
y=—{unte - 1)
3 1 +x J
y = tan 'x T
= . 1 4 _'1'2 =5
e 2tan ! x ™
4 1+ x% 4

Question Number : 17 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

ATFA HFI
(1 +4 x'z}ﬂ + 2xy = ———— h & 95,
dx 1+ x°)
S f fag (1, 0) A I T g, &
Options:
2 -1 'TI']
y=——|tan x — —
1 4 1 |I2[\ 4J
/ \
¥ = ! j{tem_l‘t —'|
> 1 +x* 4
y = tan I.l' T
: 1 + 5~ 8



Question Number : 17 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
[as4 wHlse

2. di 1 .
1+ 42y = —— ARE 1,0
dx (1 +x%) S
izl yadz udl Gre a5 8.
Options:
= ,,ltan_lx I]
] 1+x\ 4)
\
w1 [tan_lt " |
5 1+x J
y = tan IJ. T
z 1+ x* 8
2tan ' x
Y= i Bl
g 2 4
4 14+x

Question Number : 18 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The straight line which passes through the
point of intersection of the straight lines
x+y=>5and x—y=2 and is perpendicular
to the straight line 2x+5y=4 also passes
through the point :

Op'gions:
B9
1, W2 2

2 (3,1)



R
FJ |
[ L |
L -

Question Number : 18 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

9% HEl @], S B @S x+y=>5 990
x—y=2 % Wii=ed fag U BT 9T 8 2R
WA T 20+ 5y =4 F oead & e # A

o Forg & off S T -
Opt_ions:

2 (3, 1)

53]
NS

Question Number : 18 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Al x+y=5 2 x—y=2 - eliguizl
Yuiz Al 2 ol 20 +5y=4 A dot ¢y, d

ul [Ciguizdl wel war M B,
Opt_ions:

-3

; k2t 2

2 (3, 1)

'[1 7

5 2" 2]

[ 3 :?"|

4\ 27 2)

Question Number : 19 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1

An ellipse has its centre at the origin and
its minor axis is along the x-axis. If the
distance between its foci is equal to the
length of the minor axis and length of its
latus rectum is 4, then which of the
following points lies on this ellipse ?
Options:

, (2.242)
2 (2,32)
, (V2,242)

'[zﬂ ,2)

4.

Question Number : 19 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

e ST 1 s T {95 T E 991 59 Y
e, x-A9 F AW &1 Al sHH! A F
== g o A H o= F S € qd
SHEH] Ao Sa i g4 T, A E g
FH-11 fag 70 grfga W foum 272
Options:

, (2.242)
> (2,42)
, (V2,242)

'[zﬂ ,2)

4.

Question Number : 19 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

s1d s Guaaud 5w Gorllg »uam & 2
ddl Sl 28 xR 8. et ol At
el 2AcR el JUeL gl doltd s/eg €ld 2
AGcAL dotd 4 i, di Al sl 54 g 20
Guaed w2 2044 87



Options:

. (2,242)

> (2,+2)

Question Number : 20 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The positive value of A for which the
straight line 4x—3y+ A=0 touches the
circle x>+ y>—4x+6y—3=0is :

Options:

1 4

Question Number : 20 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

A T 98 SAeaF °H, faued fow we
._11-_3y.|.h={]fq7dx3+y2—-4r+6y—3=D_‘=h'}T
T FAE, B

Options:
1 4

Question Number : 20 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



2l dx—=3y+Aa=0 i ':lriﬂ'l
24+ y?—dx+6y—3=0 A 34zl o w2l A Al
U [Sud 8.

Options:
1. 4

Question Number : 21 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
If a normal to the parabola, y>=4x is
perpendicular to the line, 3y + x + 1=0, then
the ordinate of the point of intersection of
this normal with the directrix of the
parabola, is :

Options:

1. —-33

3. 33

4. 36

Question Number : 21 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Ife qaed yl=4x &1 TF Afger=, 1@
3y+x+1=0T TF=ed g T 59 Afverd #
g F1 3@ (directrix) F A qfsseq
a5 &1 FI7E (ordinate) €

Options:

1. —33

o —36

3. 33



Question Number : 21 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
o YA 2 =4 <Al 2B U B3y +x +1=0
o dof @1, ol 2L 2eid et w40 wreaHl st
Al SElCigAl B,

Options:

1. —-33

5 =28
3. 33

4. 36

Question Number : 22 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Let S and S' be the foci of the ellipse

=
]

I =1 and let A be the point (0, b).

I3

’3"|‘~:
k3| ha

a

If SA and S'A are perpendicular to each
other, then the eccentricity of the ellipse
15 :

Options:

1
3
4 V&

Question Number : 22 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 22 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 23 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



The length of the perpendicular from the
point (1, 2, 6) on the Iline

T3 _  +l w3

is :
2 1 2
Options:
, N2

> B

a5

Question Number : 23 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

fag(1,2,6)@mm* 3 _y+t1 _z2-5

T @i T o ] o ©
Options:

p V2

> V3

3 2

a5

Question Number : 23 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Options:
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Question Number : 24 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A plane has intercepts p—1, land p +1 on
the co-ordinate axes x, yand z respectively.
If the distance of the plane from the origin

is L then the largest value of pis:

NG

Options:
1 0

12

V2

3

a3

Question Number : 24 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1 )
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FA: p—1,1 a0 p + 12 af T9ae =i 7
fag & 20 % #, A p 1 S 7 S

Options:
1 0

12

V2

3

a3

Question Number : 24 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 25 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
. S
Let an angle between the vectors a and

g be ET’T If‘t:‘ = 2|z‘ and the veclors

S . —3 —3
a+xb and a b are at right angles,
then the value of x is equal to :

Options:

| k2

514 ]

3| =

Question Number : 25 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 25 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
N i W T . -\_'j =
qil 5 dEwl a 2 boazAHL el 2T B,
3

— - Ls —-
al d2al dEwl a +xb A

L

b

-

6l

=2

a — b sevsler, dix -l Bud
Options:

2
%

P2
o =
] Gl R

o
1| =

Question Number : 26 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



One player A plays 4 games with another
player B. In any game, the probabilities of
A getting points 0, 1and 2are 0.45, 0.05 and
0.5 respectively. Assuming that the
outcomes are independent, the probability
of A getting a total of 7 points is :

Options:
1
1 20

Question Number : 26 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

T figerEl A, T faensi B & 919 4 71
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3% (points) T 4 1 AT HA: 0.45,
0.05 7 0.5 ¥ 9% OFd gu fF | aiom
(outmmes}ﬁ?fﬂ%, A T FE 7 3 9 A
1 W € ;
Options:
1

1 20

Question Number : 26 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 27 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The mean deviation about the median of
the data set

4,10,6,4,13,11,19, m, 8, 7
wherem = 11 is an mteger, is 4.
Then m is equal to:

Options:
1. 14

s 15

= 16

4 17

Question Number : 27 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 27 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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sedl m = 11 Yells 8, 4 weurzedl Wl Fuad
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Options:
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Question Number : 28 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The value of l cotee where
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Options:
1. —1

Question Number : 28 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1
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Options:
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Question Number : 28 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 29 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The expression

J{cms{tan Ix] + xsin{tan I_r}]z

when( <x <1, isequal to:
Options:

1,
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Question Number : 29 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

B

|r 1 . T
w(cos(tm‘n x) + xsin(tan 1])
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Options:
.

2.
1
X
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Question Number : 29 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Options:



Question Number : 30 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The equivalent expression of
(P Aq) v (~pAq)is:

Options:

P

g PN
= WAV ~p)VP

, @V ~p)ag

Question Number : 30 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:
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g (q v ~p)rq

Question Number : 30 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:
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Aptitude Test

Section Id : 416529212

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 9

Number of Questionsto be attempted: 9

Section Marks: 200

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 416529327
Question Shuffling Allowed : Yes

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (31 to 35)
Juestion Label | Comprehension

Directions : The 3 - D figure shows the view of an object. Identify the correct top view from amongst
the answer figures.

Sub questions

Question Number : 31 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 32 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 33 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 34 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:
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Question Number : 35 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (31 to 35)
Cuesticon Label | Comprehension
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Sub questions

Question Number : 31 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 32 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 33 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 34 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 35 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (31to 35)
Juestion Label - Comprehension

YAl : 3- D 2gld s ugield g2 odidl 8. ol sigldzilaiall Wi Gl g Al sl

Sub questions

Question Number : 31 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 32 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 33 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 34 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 35 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:




Sub-Section Number: 2
Sub-Section 1d: 416529328
Question Shuffling Allowed : Yes

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (36 to 39)
Juestion Label - Comprehension

Directions : The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.

Sub questions

Question Number : 36 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:

iR

Question Number : 37 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:
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Question Number : 38 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

=7
T

Options:
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Question Number : 39 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (36 to 39)
Juestion Label - Comprehension
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Sub questions

Question Number : 36 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:
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Question Number : 37 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 38 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 39 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (36to 39)
Cuestion Label @ Comprehension
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Sub questions

Question Number : 36 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 37 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 38 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 39 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:
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Sub-Section Number: 3
Sub-Section 1d: 416529329
Question Shuffling Allowed : Yes

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (40 to 44)
Juestion Label | Comprehension

Directions : Which one of the answer figure will complete the sequence of the three problem figures

Sub questions

Question Number : 40 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 41 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:




Question Number : 42 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:

Question Number : 43 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1




Question Number : 44 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (40to 44)
Juestion Label @ Comprehension
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Sub questions

Question Number : 40 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 41 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:

Question Number : 42 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Options:

Question Number : 43 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Options:

Question Number : 44 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (40 to 44)
Cesticn Label | Comprehiension

YanL : selol 2u5ld2inidHl 59 2uslad we suslazinidl el 2uglazidl Sel yel 52217

Sub questions

Question Number : 40 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



Question Number : 41 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:
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Question Number : 42 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 43 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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Question Number : 44 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Sub-Section Number: 4
Sub-Section 1d: 416529330
Question Shuffling Allowed : Yes

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No

Question Numbers: (45to 47)
Question Label : Comprehension
Directions : Which one of the answer figures shows the correct view of the 3 - D problem figure after

the problem figure is opened up ?
Sub questions
Question Number : 45 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

Options:
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Question Number : 46 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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Question Number : 47 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No

Question Numbers: (45 to 47)
Cuestion Label © Comprehension

9897 : 3 - D W99 AT 1 WEieq W, ST SAHEa9 H J T g SH 1 8 2



Sub questions

Question Number : 45 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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Question Number : 46 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 47 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (45to 47)
Cuesticon Label | Comprehiension

Yl © 3- D W g lde vl Aridl svstier suglaziinidl 59 »ugld W g2 suid 7
Sub questions
Question Number : 45 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1




Question Number : 46 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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Options:
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Question Number : 47 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Sub-Section Number: 5
Sub-Section 1d: 416529331
Question Shuffling Allowed : Yes



Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (48to 52)
Juestion Label - Comprehension

Directions : One of the following answer figures is hidden in the problem figure in the same size and
direction. Select the correct one.

Sub questions

Question Number : 48 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 49 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

.
—_
A
,

Question Number : 50 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Options:

> Bl
3. L1
4

Question Number : 51 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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e
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",
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Options:

Question Number : 52 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

1. -
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (48 to 52)
Cuestion Label @ Comprehension

Ffor : <) ) Tt S ST A e SR AT SR fewm T w & e S o | B
% =
Sub questions

Question Number : 48 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 49 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

.
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A
,

Question Number : 50 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1

Options:
R
2. B
3.
4. &1

Question Number : 51 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 52 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:

1.
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (48t052)
Cuestion Label @ Comprehension
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Sub questions

Question Number : 48 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 49 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 50 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Options:
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Question Number : 51 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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e
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Options:

Question Number : 52 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

1. -



Sub-Section Number: 6
Sub-Section Id: 416529332
Question Shuffling Allowed : Yes

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (53to057)
Juestion Label - Comprehension

Directions : Which one of the answer figures is the correct mirror image of the problem figure with
respect to X- X7

Sub questions

Question Number : 53 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 54 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



(X)

s

(X)

Options:

Question Number : 55 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

(X)

(X)



Question Number : 56 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 57 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (53t057)
Cestion Label | Comprehiension
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Sub questions

Question Number : 53 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 54 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

(X)

Options:

(X)



Question Number : 55 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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Question Number : 56 Question Type
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :



(X)

(X)

Options:
4P,
i

LA

1.

Question Number : 57 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (53t057)
Cestion Label | Comprehiension

Yl 1 oretied 2AglainidAl 58 2usla, Wt 2ugldd X- X A i Wi 2l uble 97

Sub questions

Question Number : 53 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

(X)
l\\.
L L
I
(X)
Options:
el
\ ry
1.
o A
.-'_,-'
2.
e

Question Number : 54 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

(X)

Options:

(X)



Question Number : 55 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

(X)

s _,-’ '\.I
f -.J"-"J'\
e
b e
il | 1
Options:
|:Jﬂ\\___‘,-"w“'.I
/:-I _I
| Y
sy
1.~
™ __,-"\
e
2.
(s
R
A :_.-—~|
Ij___l -"'/\"'.
C i
A~
AR |
RS

Question Number : 56 Question Type
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :



(X)

(X)

Options:
4P,
i

LA

1.

Question Number : 57 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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Options:
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Sub-Section Number: 7
Sub-Section 1d: 416529333
Question Shuffling Allowed : Yes

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (58 to 62)
Cestion Label | Comprehiension

Directions : The 3 - D figure shows the view of an object. Identify the correct front view in the
direction of the arrow, from amongst the answer figures.

Sub questions

Question Number : 58 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Options:

Question Number : 59 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



Options:
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Question Number : 60 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 61 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:

il

Question Number : 62 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (58 to 62)
Cuesticon Label | Comprehiension
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Sub questions

Question Number : 58 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:

5
2 —
e
=i

Question Number : 59 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Options:
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4 L

Question Number : 60 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

o
o .

<;’ _'_j:
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Question Number : 61 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:

il

Question Number : 62 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (58 to 62)
Cuesticon Label | Comprehiension

YL 3-D 2usld wis yeeld g i 8, dlRedl [l sddl wad Wiz Wi g sveiiel gl 44
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Sub questions

Question Number : 58 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:
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=

Question Number : 59 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



Options:

-
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4 L

Question Number : 60 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 61 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:

il

Question Number : 62 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Sub-Section Number: 8
Sub-Section 1d: 416529334
Question Shuffling Allowed : Yes

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (63 to 65)
Cuesticon Label | Comprehiension

Directions : The 3 - D figure shows the view of an object. Identify the correct front view in the
direction of the arrow, from amongst the answer figures.

Sub questions

Question Number : 63 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 64 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Options:

Question Number : 65 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1




Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (63 to 65)
Cuesticon Label | Comprehiension
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Sub questions

Question Number : 63 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 64 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1

i N

Options:

Question Number : 65 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1




Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (63 to 65)
Juestion Label - Comprehension
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Sub questions

Question Number : 63 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

i

"

Question Number : 64 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

e

Options:



Question Number : 65 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

Sub-Section Number:
Sub-Section | d:

Question Shuffling Allowed :

9
416529335
Yes



Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (66 to 80)
Cuestion Label @ Comprehension

Sub questions

Question Number : 66 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

In which Indian city would you find the
mosque with “Shaking Minarets” 7
Options:

i Hyderabad

Lucknow

[J

Ahmedabad

1

: Allahabad

e

Question Number : 67 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Ellora in Aurangabad(Maharashtra) is
famous for ancient caves representing
Buddhism, Hinduism and Jainism. Of
these, the largest number pertains to... 7

Options:
! Buddhism
Hinduism

5 Jainism

4 Zorastrianism

Question Number : 68 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Which one of the following is a renewable
source of energy ?

Options:

1 Coal

> Natural gas



5 Ocean waves

4. Gil

Question Number : 69 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Everyone knows "The Taj Mahal’. It was
built by the Emperor Shah Jahan, but for
whom ?

Options:

1 Jahani Mahal

5 Farida Mahal

3 Mumtaz Mahal

J Toba Begum

Question Number : 70 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Where is the world’s largest panoramic
sculptural relief located ?

Options:

1 Kanchipuram

» Madurai

= Pondicherry

¥ Mahabalipuram

Question Number : 71 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

In which place in India can we find cave
temples of three faiths ?

Options:

1 Madurai

5 Delhi



2 Ellora

4 Agra

Question Number : 72 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Which of these is not a planned city of
India ?

Options:

L Kanpur

5 Bhubaneshwar

4 Chandigarh

y Gandhi nagar

Question Number : 73 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Whois the Architect of “LIC Building, New
Delhi” ?

Options:
1 Charles Correa

5 Laurie Baker

Le Corbusier

B V Doshi

Question Number : 74 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Which is the highest Award for
Architects ?

Options:
1 Pritzker's Award

5 Aga Khan Award

3 Rechter Prize



i Stirling Prize

Question Number : 75 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The house called "Falling Waters’ was
designed by which one of the following
architects ?

Options:
i James Sterling

5 Frank Lloyd Wright

Walter Gropius

" Frank Ghery

Question Number : 76 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The maximum heat gain in a building is
from which part of the building :

Options:

1 Floors

> Doors
= Roofs

4 Windows

Question Number : 77 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Shady trees can help protect a building
from the summer sun when these are
located on which side :

Options:
1 North

o South

= East



4 West

Question Number : 78 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Whatis the role of lintels in a building ?

Options:
] Give light to buildings

Support the portion above wall
5 openings

% Separate the rooms

Support the windows

Question Number : 79 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

In side hung windows the hinges are fixed
on which side of the shutter ?

Options:
1. Top

- Bottom

- Side

4 Middle

Question Number : 80 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
‘Mona Lisa’ is which of the following ?

Options:

i A painting

5 A Queen

3 An Actress

A Dancer
4.



Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (66 to 80)
Cuestion Label @ Comprehension

Sub questions

Question Number : 66 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
&g wrEE wEt ¥ o fees g 1At
= WY AiEas oo ?

Options:

Question Number : 67 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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¥ fou 9fas 31 o 4, 999 99 9en 9
Options:
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Question Number : 68 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Frefafaa § 9 & o S % A9 =6 2 2

Options:
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Question Number : 69 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 70 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
S 1 BEd =2 YHRHE gidwen Ted wel
feem 7

Options:
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Question Number : 71 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1 )
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Options:
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Question Number : 72 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
T F FH 91 9Ra F1 e v @ 82
Options:
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Question Number : 73 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:
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R

Question Number : 74 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
87
Options:

| oz = qeEn
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Question Number : 75 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:
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Question Number : 76 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
weAT H T Hay it e et 4wt 22
Options:
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Question Number : 77 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
FHERER T2 G4 F1 TH H UF THRG FI 1 H
Teg & Td ¢ o9 F T i e ¥

Options:



Question Number : 78 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Options:
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Question Number : 79 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Options:
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Question Number : 80 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A o frefafad § 9 @ g?

Options:



Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (66 to 80)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH

Sub questions

Question Number : 66 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
QUL 541 AL el BAR 2idd )7

Options:
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Question Number : 67 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Options:
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Question Number : 68 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
AlziArizll 52U Gled Hid Y 67
Options:
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Question Number : 69 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:
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Question Number : 70 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:
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Question Number : 71 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

UL 58 oI AL 2R 245t 4L sdell
UL

Options:
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Question Number : 72 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Azl 54 2k 2uler-oa 2117
Options:
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Question Number : 73 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:
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Question Number : 74 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 75 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Options:
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Question Number : 76 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1 )
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Question Number : 77 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Options:
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Question Number : 78 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Options:

;ML HsLeL el

o Vel ol 25l el
o wlRsield 2EL sl

4 Al 25 2l

Question Number : 79 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 80 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Dirawing
Section Id : 416529213
Section Number : 3
Section type: Offline
Mandatory or Optional: Mandatory
Number of Questions: 3
Number of Questionsto be attempted: 3
Section Marks: 70
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 416529336
Question Shuffling Allowed : No

Question Number : 81 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 20



(a) In the space provided in the answer
sheet for this question, draw margin
lines to form a frame. In this frame
create an aesthetic composition using
only equilateral triangles. These
triangles can be of any size, and may
be placed separate, overlapping or
within each other. Design and draw
to produce an aesthetic and visually
exciting composition of these
triangles in the frame without making
it look like any form like house face
etc. The spaces created by the
composition should be filled with
some colors of your choice so that the
visual quality of the composition is
enhanced. Use of drawing
instruments is allowed. 20 Marks

Question Number : 81 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 20
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ST =MeT A 399 TOEE SIEA el
TR | SIS IS W SET T &
Sﬂ'qﬁl%i 20 Marks

Question Number : 81 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 20
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Question Number : 82 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 20

(b)  Draw the mirror image of the graphic
shown below about the line X - X
Your drawing should be technically
correct in the drawing of lines and
their positions. 20 Marks

(X)

(X)

Question Number : 82 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 20



(b) e X- X % "e9 H = fgm@m M
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Question Number : 82 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 20
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Sub-Section Number: 2

Sub-Section 1d: 416529337



Question Shuffling Allowed : No

Question Number : 83 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 30
(c) Make a beautiful colorful design for
male shirting material. 30 Marks
OR
Draw a picture of your favourite film
star as realistic as possible.
OR
Draw from memory a picture of
your school showing the
surroundings.

Question Number : 83 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 30
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Question Number : 83 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 30
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